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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r—o',
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Trend plot forP3-1_0
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m=880,n FV0=0

760

—O—

M_E

i
=

880 885 890

29.

28.

28.

27.

27.

26.

26.

30.

29.

29.

28.

28.

27.

30.

29.

29.

28.

28.

31.

31.

30.

30.

29.

m=490, FV0=0
0 —o— ME
5 - [ )
N .\N—o\.
5 -
0 -
5 -
0 -
490 495 500
m=670,m FV0=0
07 —o— ME
5 -
0 -
5 -
0 -
5 -
650 655 6éo
m=790,m FV0=0
07 —o— ME
5 -
0 -
5 -
0 -
760 755 860
m=910,m FV0=0

-o— M_E

910 915 920

29.

29.

28.

28.

27.

27.

29.

28.

28.

27.

29.

29.

28.

28.

21.

31.

31.

30.

30.

29.

m=535, FV0=0

>

T T T T T T
535.0 537.5 540.0 542.5 545.0 547.5

m=700,m FV0=0

—o— ME

T

765 7iO
m=820,n FV0=0

—o— M_E

7

Bé5 850
m=945,n FV0=0

820

—o— M_E

945 950 955




m=980, FV0=0

32.0
—e— ME
31.5 -
°
31.0 -
30. 5 - \\""‘\.
30.0 A
T T T
980 985 990
m=490,m FV0=0
—— MW
30 -
°
. \
26 -
24
T T T
490 495 500
m=670,m FV0=0
50 —— MW
28 -
26 -
24
670 675 680
m=790,m FV0=0
31 -
30 -
29 -
28 -
27 -

790 795 800

32.0

31.5 4

31.0 A

30. 5 A

30.0 A

29.5

30 -

28

26

24

m=1030, FV0=0

/”\:

1635 1640
m=535,n FV0=0

T
1030

—— MW

T T T T T T
535.0 537.5 540.0 542.5 545.0 547.5

m=700,m FV0=0
—o— MW
30 -
28 - \
26 -
700 705 710
m=820,m FV0=0
32 —— uW
31 -
30 -
29
28 -
27
820 825 830

T T T
600 800 1000

m=610,m FV0=0
—— MW
26 -
25
24
23
22
610 615 620
m=730,m FV0=0

31

30 A

29 A

28 A

27 -

26

—— MW

i

730 7é5 7&0
m=850,n FV0=0

33 A

32 -

31 1

30 -

29 A

28 A

-— MW

I

850 855 860

m=455, FV0=0

26

25 A

24 -

23 A

22 -

21 -

—— MW

T
455

T T
460 465

m=640,m FV0=0

29 A

28 -

27 A

26

25 A

24

23 A

—— MW

640

T T
645 650

m=760,m FV0=0

32 -

31

30

29 A

28

27 A

26 -

—o— MW

760

765 770

m=880,m FV0=0

32 -

31 4

30

29 A

28

- MW

880

885 890




m=910, FV0=0

—— MW
32 -
31
30
29 -
28
T T T
910 915 920

m=945, FV0=0

33 A

32 -

31 1

30 A

29 -

28 A

—0—

M_W

945

T
950

955

m=980, FV0=0

33

32 -

31 A

30 -

29 -

28 -

—0— MW

‘*-*.\H

980

T
985

990

m=1030, FV0=0
—— MW

32 -
31
30 -
29 A
28 -

T T T

1030 1035 1040




hour

115

120

:20

:20

120

:20

120

:20

100

80

- 60

- 40

§_



P3-1

BfiE) | EBAK Y | ERE (EAR/HK) | ERERE (B/R) | KR R

07:25 273 150.0 2.583 i BRi8@07:25 Bzh (REERSE)
07:55 273 150. 0 2.583 5 ’Ri%@07:55 Bzh (kRAERESE)
08:40 273 150. 0 2.583 & ’R1%@08:40 HE (KAERKSE)
09:15 273 150.0 2.583 5 B2i%@09:15 B3h (kBIEREE)
09:45 273 150. 0 2.583 & ’Ri%@09:45 Bz (RAERESE)
10:15 273 150. 0 2.583 & ]Ri%@10:15 Bz (RAERSE)
10:50 273 150.0 2.583 5 B21%@10:50 B3h (kBEREE)
11:20 273 150.0 2.583 & Brige11:20 Bzh (REERESE)
11:50 273 150.0 2.583 5 BRige11:50 Bzh (REERSE)
12:20 273 150.0 2.583 5 BRi8@12:20 Bz (REEREE)
12:50 273 150.0 2.583 5 BRig@12:50 Bzh (KRBERESE)
13:20 273 150. 0 2.583 5 Ri%e13:20 Bz (RAERESE)
13:50 273 150.0 2.583 & i18@13:50 B3h (KRBERKSE)
14:20 273 150.0 2.583 i BRig@14:20 Bzh (REPERESE)
14:50 273 150. 0 2.583 5 Ri%e14:50 Bzh (RAERSE)
15:20 273 150.0 2.583 & BRi%e15:20 Bz CGRAERE)
15:50 273 150.0 2.583 i BRig@15:50 Bzh (REBERESE)
16:20 273 150. 0 2.583 & ’Ri%016:20 Bz (RAERESE)
16:50 273 150. 0 2.583 & ’Ri%@16:50 Bz (RAERKSE)
17:20 273 150.0 2.583 B FiT017:20 B3 GRAERE)
21t 5460.0 (20)%) 3000. 0 3EHKEC: 2080.0, PH: 5.6

HERRHEME STEAERTS (176.0 : 145.0), AIgEMF—RE XAH45
BRI\ SEPRIERL145. 0 ml.

[E&EC 5820.0 K&, EiFKECAE & MR

#[EKECE (1820.0 vs 5820.0) 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=69 (2025-06-06)

T e g g e B S g

78809- 3000
- 2000
- 1000
-0

100 A

50

(¢
200 -

VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

2288

1700 186

150 Warning: lcol [FVI',| "FVO’'] missing

‘0

v
FRV

100 A

1.0

Warning: lcol ["WC1',  "WC2'] missing

—_— M_E
maxM

4000

a 30

- 20

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

600 -

400

200

Bylnit @D71 01:45: ET=3405 Fg=3150.0 Ro=0

| D R S o .

0 1 2 3 4 5 6 7 8 9

10

11

13

- 4000

- 2000

17 22 23

600 -

CESRS BB | BB | B | B

E3
B

ES
5]

E3
B

HHE E3 E3 ES = E3 E3 ES
B B 5] B B B 5]

400

200

ByEt @D69 19:07: ET=3255 Fg=2769.0 Ro=nan

 — —
0| 1 | 23] 4[5 [6[7[8]9

10

- 4000

- 2000

22 23

600 -

BB |zx| B | B | B | B[ [F[RK|[RK

[

%n| B

400

200

]
ByWoFv @D71 01:45: ET=2809 Fg=3000.0 Ro=412.0

1 S N N

1.0

- 4000

- 2000

0.8

0.6

0.4+

0.2~

1908 1

1000

500 -

—_—
[ ] | _obs
—@— PPFD obs

80 -

RH
RH_obs
RHo_obs

- 25 LIJI

—~

d-1

E

FRV (

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



23.

22.

22.

22.

22.

21.

22.

21.

21.

26.

25.

25.

24.

24.

30 -
28
26 -
24
22
20 -
T T T T
400 600 800 1000
m=545,m FV0=0
00 7 —o— ME
75 -
50 -
25
00 -
75 -
T T T
545 550 555
m=665,m FV0=0
—&— ME o~c/.\'/.\n
0 -
5 -
0 -
665 670 675
m=785,m FV0=0
0 - —o— ME
5 -
0 -
5 -
0 -
785 790 795

26.

26.

26.

26.

26.

25.

25.

21. 25 A

21.00 A

20. 75 A

20. 50 A

20. 25 A

20. 00 A

23.

23.

22.

22.

21.

27.

26.

26.

25.

25.

24.

m=435, FV0=0

440 445
m=585,m FV0=0

—0— ME

560 5é5
m=695,n FV0=0

760 765
m=815,n FV0=0

695

—o— M_E

i
7

815 820 825

26.

26.

25.

25.

25.

25.

19.

19.

19.

19.

19.

19.

24.

24.

23.

23.

22.

217.

217.

26.

26.

25.

25.

m=465, FV0=0
11 —o— ME
0 -
i <o~o~0~o~o~g\;_.h.h‘\\.—.
8 -
7 -
6 -
465 470 475
m=620,m FV0=0
97 —o— ME
8 -
7 -
6 -
5 -
4 -
620 625 630
m=725,m FV0=0

1T —e— MmE

(&)1 o (S} o [$)]
I I I I

725 730 735

m=845,m FV0=0
;| —o— ME
0- °\o\.&.
5
0
5
0

845 850 855

25.

25.

25.

25.

24.

24.

24,

21.

21.

20.

20.

19.

25.

25.

24.

24.

23.

28.

28.

27.

21.

26.

26.

m=495, FV0=0

—o— M_E

560 565
m=630,n FV0=0

M_E

655 6&0
m=755,n FV0=0

—o— M_E

/

760 7é5
m=875,n FV0=0

755

-o— M_E

875 880 885



29.

28.

28.

27.

27.

26.

30.

27.

25.

22.

20.

17.

20.

20.

20.

20.

20.

20.

19.

19.

18.

18.

m=910, FV0=0

—e— ME

T
600

T T
800 1000

m=545,m FV0=0

x’v

550 565
m=665,n FV0=0

0

m=945, FV0=0
-o— ME
29.5 -
29.0 -
28.5 -
28.0 -
27.5 -
27.0 -
T T T
945 950 955
m=435,m FV0=0
24.10
24. 05
24. 00 -
23. 95
23.904 @ MW
T T T
435 440 445
m=585,m FV0=0
18.6 - N
18.4 -
18.2 -
18.0 -
585 590 595
m=695,m FV0=0

21.

20.

20.

19.

19.

-o— MW

i

695 700 705

30.

29.

29.

28.

28.

27.

23.

23.

23.

23.

23.

23.

23.

18.

17.

17.

22.

21.

21.

20.

20.

19.

m=985, FV0=0
—e— ME
04
5
04
5
04
5
985 990 995
m=465,m FV0=0
701 —o— MW
65
60 -
55
50 -
45
40 -
465 470 475
m=620,m FV0=0
—— MW
04
5 4
04
620 625 630
m=725,m FV0=0
01 - MW
5
04
5 4
04
5

725 730 735

30.

29.

29.

28.

28.

22.

22.

22.

22.

22.

m=1045, FV0=0

0- —o— ME
| .K‘“ﬁo—cg‘*4.\.
0 .
5 .
0 .
T T T
1045 1050 1055
m=495,m FV0=0
97 —— MW
8 .
7 .
6 .
5 .
T T T
495 500 505
m=630,m FV0=0
20 17 _@— MW
19 -
18 -
17 -
630 635 640
m=755,m FV0=0
23 —— MW
22
21
20
755 760 765



m=785, FV0=0

—— MW
23
22
21
T T T
785 790 795
m=910,m FV0=0
96 —— MW
25
24
23
22
T T T
910 915 920

m=815, FV0=0

24 -

23 -

22 A

21 -

—0—

MW

815

8é0 Sé5
m=945,n FV0=0

27 -

26 A

25 A

24

23 -

—0—

M_W

945

T
950 955

m=845, FV0=0

25

24 -

23 A

22 -

21 A

—— MW

‘\.\.\.

T
845

850 Sé5
m=985,n FV0=0

29 -

28 -

27 A

26 -

25 H

24

23 A

—— MW

T
985

990 995

m=875, FV0=0

26 A

25 A

24

23 A

22 -

—— MW

T
875

850 8é5
m=1045n FV0=0

30 A

29 A

28 A

27 -

26 -

25 -

24

—o— MW

T

T
1045

T T
1050 1055
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1
1
12
12

16

:00 -
:05 -
:10 -
140
115

0 00 N NN O O

125
10:
10:
110
145
115
145
13:
13:
14:
15:
15:
145

100

80
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35

- 60

- 40

20
50
20

55

§_



P3-1

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:40 273 150. 0 2.583 E|  {Rige07:40 B3h (RE{EREE)
08:15 273 150.0 2.583 |Z=| {Ri%e08:15 Bzl (KREAEZHE)
08:50 273 150.0 2.583 (Z=| {Ri%@08:50 Bz (FRAERHSE)
09:25 273 150.0 2.583 FE| 1BRi&@09:25 Bzh (RAAEREEE)
10:00 273 150.0 2.583 FA| 1BRi%@10:00 B3h (KRAHEREEE)
10:35 273 150.0 2. 583 FA| 1B2i%@10:35 Bzh (RkA{EREE)
11:10 273 150. 0 2.583 FA| fBi&e11:10 B3h (RAFEREE)
11:45 273 150.0 2.583 FR| {Ri&e@11:45 Bz (GGRAEEE)
12:15 273 150.0 2.583 FH 1Rige12:15 Bzh (GRAEREE)
12:45 273 150.0 2.583 PA| {Ri%e@12:45 Bz (GRAEEE)
13:20 273 150.0 2.583 (Z=| 1Ri%@13:20 Bz (RAERSE)
13:50 273 150.0 2.583 (£ =| {Ri%@13:50 Bz (REAEHSE)
14:20 273 150. 0 2.583 |Z=| BRige14:20 Bz (GRAERESE)
15:00 273 150.0 2.583 (Z=| {Ri%@15:00 Bz (FRAEHRSE)
15:55 273 150. 0 2.583 | =| {Ri&e15:55 B (REAEZEBE)
16:45 273 150.0 2.583 (Z=| {Ri%e16:45 Bz (KREAEHSE)
2it] 4368.0 (167%) 2400. 0 323 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (278:81.0), set to 278 ml

RE R i BlRECKIHE TR K.

[E;&%EC 5360.0 K5, EiFHKECAE&IREER
#[EKECE (1773.0 vs 5360.0) T 5
REXR EBT I HEREC/PHERR K, AIREZINIEAR K




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-1_0, Day=68 (2025-06-05)

LR S L i ittt E PPy
V1, VRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 3000

2300 2288 =

110

50 - 1000

Warning: lcol [FVI',| "FVO’'] missing 150

200 4
150 -

100 A

a1
o
1

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

@D71 01:45: ET=2529 Fg=3000.0 Ro=578.0 4000

L 4 ' - 3000
y
/[I/I I

- 2000
0 [ 1 2 [ 3] 4[5 [ 67 [8 9o Jiwo[mnJi12]18[14]15]16][17] 18] 192072122723
B | i | B (2= 5 | [ | & | B [FA | BA [ FH [ FA | BA [P | BH | BA [P | BAH | B8 [P | BAH | BB | PH

300 1 ByEt @D68 19:32: ET=2403 Fg=1885.0 Ro=nan

200 - /\\/ a4
/l 11 |

100 -

JEErEee. 111 1
400 40 2 [ 3] 4[5 [ 67 [8JoJiwo[mn 1271 [14]15]16 ] 17 ] 18] 1920721 22723
BB | B[2=| i | B | B | B |[Z[ W | B [H W IZZ[(ZE|ZZ|Z2[(ZE5| B | B [ W |2x[25] W

300 1 ByWoFw @71 01:45: ET=1982 Fg=2400. 0 Ro=465.0 - 3000

y -
/( i1

BylIni
300 A

200

cumET (ml/plant)

100 - - 1000

) S S S Y o

400 4 4000

- 3000

P S @ - 2000

- 1000

cumET (ml/plant)

4000

==}
I

200 - 2000

- 1000

cumET (ml/plant)

14 115 [ 16 [ 17 [ 18 [ 19 J 20 J 21 [ 22 [ 23
25|25 |Z=| W | A | B [ZE|5=] B

104 03
[

0.8

m
T
™
T0H
W
M
™
T
m
T
™
T0H
R
W
M
=
=
=
=
)
1] Rt
W
MI

0.6

0.4+

0.2~

—_—
[ ] | _obs
—@— PPFD obs

e v P




m=425, FV0=0 m=480, FV0=0 m=555, FV0=0

29.5
29.0 —o— ME —e— ME —o— ME
30.0
28.5 ® 29.0 -
28.0 - 29.5 1 08 5
27.5 7 29.0 - \_‘\'"\,_. 28.0 -
27.0
28.5 - 27.5 1
26.5
27.0
T T T T T T T 28 0 T T T T T T
400 600 800 1000 425 430 435 480 485 490 555 560 565
m=600,m FV0=0 m=635,m FV0=0 m=665,m FV0=0 m=710,m FV0=0
29.5 09, 5
—-o— ME : —— ME | 30.5 —— ME | . .| —o— ME
29.0 i
29.0 300 -
30.0
] 28.5
28. 5 29' 5 .
29.5 °
28.0
28.0 29.0
29.0
27.5
27.5 - 28.5 1
27 0- 28.5
28.0
27 0 T T T T T T T T T T T T
600 605 610 635 640 645 665 670 675 710 715 720
m=755,m FV0=0 m=805,m FV0=0 m=850,m FV0=0 m=890,m FV0=0
30.0 1 —e— ME 20,0 - —o— ME —e— ME 31.0 1 —e— ME
29.5 4 29.5 1 30.5 -
29.5
29.0 .\. 29 0 - 30.0 4
29.0
28.5
28.5 29.5
28.5
28.0
i 28.0 - 29.0 1
27.5 28.0
T T T T T T T T T 28.5 - T T T
755 760 765 805 810 815 850 855 860 890 895 900
m=970,m FV0=0 m=1035m FV0=0 m m=425,m FV0=0
31.0 —o— ME —— ME 32 —— MW 9 | —— MW
31.0
30. 5 28
30.5 30 ®
30.0 27 -
30.0 A 28 -
29.5 4 26 -
29.5 A 26
29.0 - 25 1
29.0
28.5 24 1 241
970 975 980 1035 1040 1045 400 600 800 1000 425 430 435

m m m m



m=480, FV0=0

2 —— MW
31 4
30 A
29 \H‘*o—o
28
27 4
T T T
480 485 490
m=665,m FV0=0
—— MW
31 4
30 A
29 ‘\“‘M
28
27 R T T T
665 670 675
m=850,m FV0=0
—— MW
30 A
29
@
28
27 4
850 855 860

m=595, FV0=0

31 A

30 A

29 -

28 A

27 -

26

——

M_W

555

T T
560 565

m=710,m FV0=0

31 A

30 A

29 A

28 A

27 -

——

M_W

710

T T
715 720

m=890,m FV0=0

31 4

30 -

29 A

28 A

27 -

—o— MW

890

895 900

m=600, FVO0=0 m=635, FV0=0
31 4 31 +
—-— MW —-— MW
30 + 30 -
29 - 29 -
28 - 28
27 27 A
26 26
T T T T T T
600 605 610 635 640 645
m=755,m FV0=0 m=805,m FV0=0
31
—-o— MW -o— MW
30 + 30 A
29 - 29
[ o
28 - 28
27 27 4
T T T T T T
755 760 765 805 810 815
m=970,m FV0=0 m=1035m FVO=0
31 1 —— MW 31 —— MW
30 + 30 4
29 + 99
28 -
28 -
27 4
T T T 27 L T T T
970 975 980 1035 1040 1045
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P3-1

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

08:35 273 150.0 2.583 5| {Ri%@08:35 Bz (KRFAERSE)
09:10 273 150. 0 2.583 E[ BRi%e09:10 Bz (GRAERSE)
09:45 273 150.0 2.583 F BRi%e09:45 BE1 (GREERE)
10:25 273 150.0 2.583 = {Ri%@10:25 B (RAERSE)
11:10 273 150. 0 2.583 El BRige11:10 Bz CGRAERESE)
11:50 273 150. 0 2.583 S {Ri%e11:50 Bz (GRAERSE)
12:25 273 150.0 2.583 =l RiBe12:25 B (REAKESE)
13:05 273 150. 0 2.583 E BRige13:05 Bz (GRAERESE)
13:50 273 150.0 2.583 5| {Ri%e13:50 B3 (GRAERSE)
14:20 273 150.0 2.583 =l {Rig014:20 B3 (RAERSE)
14:50 273 150. 0 2.583 E BRige14:50 Bz (GRAEREE)
15:30 273 150.0 2.583 5| {Ri%e15:30 B3 (RAERSE)
16:15 273 150.0 2.583 =l RRiB016:15 Bz (RFEAEESE)
23t 3549.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (30:204.0), set to 30 ml.
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